[fl—Viacheslav modified code for Draghilev's method

[El—Jean example

Values [a b c]::[2 J§’5]
Minimize & 2 2 2 subject to 2 2 2
Maximize Pi=x t+y +z =2 Y L Z 4
P + +
2 2 2
a b c
Vi=x+y—2z
"Lagrangian" L:=®d+4+A-0+nu-¥
d Vei=|T—
fx:=—1 x-(44A)+2-u X
d x > [1..5]
=3 1 |2y (5+2)+5-n
dy 5
{fz ——d L=<2'Z'(25+A)_25‘}’1
dz 25
=31 2 2 2
T4adaA 55-\-4+x )+4-y |+4-z
fp-—d—L 100
h_dll X+y—2z
Minimize
F(X):=|[x:=X y:=X z:=X_ A=X p:=X 2 Guess value
1 2 3 4 5 1
T
[fx fy fz fA fp] Xo:=| 0
-4
. 1
Starting 1.5738
point -1.3771
Xo:=roots(F(X), V, Xo)=| 0.1967
—4.4118
0.324
Draghilev , =3 rows (U)=11
method [U Roots]::DraghlleV[F(X),Xo,(L 4,10, 10 ] (U)
Roots =[1.5738 —1.3771 0.1967 —4.4118 0.324]
The maximum of F is the minimum of G = -F
Maximize
G(X)=|[x:=X y:=X z:=X_ A=X p:=X 1 ]Guess value
1 2 3 4 5 1
T
[-fx —fy —fz fA fu] Xo:=| 3
—-10
. 3
Starting 1.026
point 1.539
Xo :=roots(G(X), V, Xo)=|2.5649
-10
3.0779
Draghilev , -3 rows (U)=11
method [U Roots]::DraghlleV[G(X),Xb, 0, 4,10, 10 ] (v)

Roots =[1.026 1.539 2.5649 —10 3.0779]
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